Fast Five

___+80+6=586 15+3=

What is this shape?

Half of 46
84+32=

Answers on the next slide



Fast Five Answers

500+80+6=586 15+3=5

Pentagon

Half of 46
84+32=116 23



Can | divide a 2d number using the tenth multiple? 1) 65 is too big to be on our
skeleton table so we need
to break it down into two

65=5= parts. We know that 50 is

* T ten lots of 5 (10x5). What
is left over to get to 657?
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Can | divide a 2d number using the tenth multiple?
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65+5=

15

1)

2)

65 is too big to be on our
skeleton table so we need
to break it down into two
parts. We know that 50 is
ten lots of 5 (10x5). What
is left over to get to 657?
We had 15 left over. We
now need to divide that by
5 too. Use the skeleton
table to help.



Can | divide a 2d number using the tenth multiple?

65+5=

X9

e 50 15
21 10

3| 15 +5 l =5 ‘
4 1 20

6 | 30

7 | 35

8 | 40

9 | 45

101 50

1)

2)

3)

65 is too big to be on our
skeleton table so we need
to break it down into two
parts. We know that 50 is
ten lots of 5 (10x5). What
is left over to get to 657?
We had 15 left over. We
now need to divide that by
5 too. Use the skeleton
table to help.

Now we add those three
lots of 5 to the ten we set
aside earlier to get the
answer.



Can | divide a 2d number using the tenth multiple?

65+5=13

X9

e 50 15
21 10

3| 15 +5 l =5 ‘
4 1 20

6 | 30

7 | 35

8 | 40

9 | 45

101 50

1)

2)

3)

65 is too big to be on our
skeleton table so we need
to break it down into two
parts. We know that 50 is
ten lots of 5 (10x5). What
is left over to get to 657?
We had 15 left over. We
now need to divide that by
5 too. Use the skeleton
table to help.

Now we add those three
lots of 5 to the ten we set
aside earlier to get the
answer.



Can | divide a 2d number using the tenth multiple? Now try this one. Remember

the steps:
1) Set ten lots aside
X2 . 2) Figure out what is left
1 ]2 24+2= over
5 I 2 3) Divide what is left over
. 20 ? 4) Add it to the ten lots
4 |8 +2 l +2 ‘
. 10 ?
6 | 12
7 | 14
g | 16
o | 18
10 | 20

Answer on next slide



Can | divide a 2d number using the tenth multiple? Now try this one. Remember

the steps:
1) Set ten lots aside
X2 . 2) Figure out what is left
2 24+2=12 )
4 3) Divide what is left over
) 20 4 4) Add it to the ten lots
8 +2 =2 ‘
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Can | divide a 2d number using the tenth multiple? Now try this one. Remember

the steps:
X3 1) Set ten lots aside
4D=3= 2) Figure out what is left
11 3 : over
2 | 6 3) Divide what is left over
2|l s 4 i 4) Add it to the ten lots
4 12 =3 l =3 ‘
5 | 15 10 ’
6 | 18
7 | 21
8 | 24
9 | 27
101 30

Answer on next slide



Can | divide a 2d number using the tenth multiple? Now try this one. Remember

the steps:
X3 1) Set ten lots aside
i1 3 42+-3=14 2) I;:/geL;re out what is left
2 3) Divide what is left over
3 19 30 12 4) Add it to the ten lots
4 1 12 -3 l o ‘
5 | 15
7 | 21
8 | 24
9 | 27
101 30



